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A canteen requires 105 kgs of wheat for a week. How many kgs of wheat will it require
for 58 days?

T B BY U T8 &b T 105 fdsetum g HY 3maegdsar gidt &1 58 f&At & fAy fasa faset
g B TgeF T B2

® Click to watch Free Video Solution of this question on Doubtnut
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35 women can do a piece of work in 15 days. How many women would be required to do
the same work in 25 days?

35 AfedTy 15 AT # B BT U ghel B Tt a1 25 Al # TP & BM o & fag fdsa
AIZAT3 BT 3maegBdT Bri?

® Click to watch Free Video Solution of this question on Doubtnut
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A certain number of people were supposed to complete a work in 24 days. The work,
however, took 32 days since 9 people were absent throughout. How many people were
supposed to be working originally?

24 &A1 # A B v FfeTa T Bl QT AT ATI BT, B H 32 fGF & a=ilfs 9 @
37Ul | HeT BU F fdsd T BTH o T8 A?
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If 20 men can build a wall 56 metres long in 6 day what length of a similar wall can be
built by 35 men in 3 days?

4 - 4380826
i 20 J&9 6 AT # 56 Hiex det SIaR &1 ebd © ar 35 AT # 35 &A1 # v & daR &f dae
P YR GATE ST bl 872
® Click to watch Free Video Solution of this question on Doubtnut
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If 12 men or 18 women can do a work in 14 days, then in how many days will 8 men and
16 women do the same work?

5-4380827
e 12 g3 AT 18 ATy 14 &A1 # P & ebd! 2, a1 8 &Y 3iR 16 Al fosaT & &
E2GIRs
® Click to watch Free Video Solution of this question on Doubtnut
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1
5 press compositors can set 625 pages of a manuscript in 16 days of 105 hours each.

Each page has 60 lines and each line has 40 letters. In how many days of 8 hours each,
will 10 compositors set 1000 pages of a manuscript, each page having 45 lines with 50
letters in each lines?

5 31 TRt 16 Rt ¥ T TTgfRY 35 625 TRt B Ae R Y 10% R e 1 e e
# 60 @Te gl & 31N Uda Ufard # 40 31&R 81d 21 YA 8 € & foba f&AT #, 10 Huifoied v
Uigfeifd & 1000 Tt BT I B, TAh I § Tedp Ufae § 50 37eRY aTel 45 ATS lii?

® Click to watch Free Video Solution of this question on Doubtnut
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If the cost of © metres of wire d rupees, then what is the cost of y metres of wire at the

d
same rate? a. Rs. % b. Rs. (zd) c. Rs. (yd) d. Rs. y?

3R AN z dR & HIRX d U, a1 @Nd R & y U &l & W dR & HiI? Tl Rs.%?ﬂ'l

Rs. (zd) ¥t Rs. (yd) 1 Rs. y?d

® Click to watch Free Video Solution of this question on Doubtnut
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If a quarter kg of potato costs 60 paise, how many paise will 200 gm cost? 48 paise b.
54 paise c. 56 paise d. 72 paise

i U Tters fbal 31e] & HIHd 60 Y &, dF 200 UTH 6T HIAd fosa-! grit? 48 paise Gl
54 paise Il 56 paise Tl 72 paise

® Click to watch Free Video Solution of this question on Doubtnut
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One a scale of map, 0.6 cm represents 6.6 km. if the distance between the points on the

map is 80.5 cm, the actual distance between the points is 9 km b. 72. km c.
190. 75 km d. 885. 5 km

HAIH BT G UAM, 0.6 JHT 6.6 fBHT BT UfdfAfEia wear &1 afe AAfed W fagsit & o &1 gdt
80.5 I &, a1 fdgail & T arafad g 8 9 km @1 72. km 31 190. 75 km =1 885. 5 km
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1
A recipe for stew that feeds 4 people Calls for 15 teaspoons of salt. If 3 teaspoons =1

tablespoon, then how many tablespoons of salt will be needed to make enough stew for
18 people? 2.25b.3.25¢.4.5d. 6

T P AT U THET AT 4 A b fGardr &, & fog Hidt T 8 1% THS P I | TS 3 THT =

1 9, d1 18 o & feiv gafed & e & Y fosd Imra THe b1 3rTaedesdr aiit? 2. 25 @l
3.254 4. 591 6

® Click to watch Free Video Solution of this question on Doubtnut
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A canteen requires 651 bananas for a week. Totally, how many bananas will it require for
the months of April, May and June? 8463 b. 847 c. 9086 d. 9284 e. none of these

Teh B P b FWIE P [T 651 el DI TaIBAT gt 2l I aE I, 38, 7S IR ST &
"I & Ay fosa Pet Bl maegepar aril? 8463 @i 847 il 9086 €1 9284 €1 517 4 BIS
Tl
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On a certain map of India the actual distance of 1450 km between two cities Delhi and
Kolkata is shown as 5 cm. What scale is used to draw the map? 1:15 x 10° b.
1:20 x 10%¢.1:25 x 10%d. 1:29 x 10°

YRd & Qb fAfed A W et 3R Picterar & & el & dfier 1450 st &Y arafde git 5
A P BY H fe@mar T 21 AERT BT BT B &b v fbg SaMm o1 3uanT fhar Srar 22
1:15 x 10% &1 1:20 x 1084t 1:25 x 10891 1:29 x 10°
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A TV tower 36 metres high casts a shadow of 24 metres at a particular time of a day.
What is the height of a minar with a three metre high flagstaff atop it, it both of these
together cast a shadow of 50 metres at the same time of the day? 64 m b. 72 mc. Tm
d. none of these

36 HieX 3 Tab Aidl TR B Tep foT P fooelt fa9y I0g W 24 Hiex B B/ gidt &1 dF Hie? 33
TTRETH & 1 Udh HIMR dI HaTs 9T &, T§ aFi Udb A1 &7 & U & g8d H 50 Hiex & 81T
el? 64 m @1 72 m G 7 m g1 TN A BIE T8N

® Click to watch Free Video Solution of this question on Doubtnut
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A group of workers promise to complete a piece of work in 10 days, but five of them do
not report for work. If it took the remaining workers 12 days to complete the work, then
the number of workers originally hired was 15 b. 25 c¢. 30 d. 45

Yftepl BT Yeb HHg 10 AT H B0 BT Ueb gbgT [T B T ATl T 8, wlfebd 370 H Uiel B1H &
feig Rt 78 i 21 Al AW BriesdisA Bl B QT P & flg 12 & o, at 4ot B9 F feb1g
R o dTel SffAepT BT AT &t 15 @1 25 4t 30 =1 45

® Click to watch Free Video Solution of this question on Doubtnut

15 - 4380854

IBPS CLERK EXAM SPECIAL - CHAIN RULE

In a camp, there is a meal for 120 men or 200, children. If 150 children have taken the
meal, how many men will be catered to with the remaining meal? 20 b. 30 c. 40 d. 50

T feifer #, 120 g&ui AT 200 <] & fef g WIS 81 AfE 150 g 4 HisH fdsam 2, df 9 WisH &
12 fosa goel I Q@7 b sirgmm? 20 @1 30 €Y1 40 =1 50
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If 7 maids with 7 mops cleaned 7 floors in 7 hours how long would it take 3 maids to mop

7 49
3 floors with 3 mops? ghours b. 3 hours c. ?hours d. 7 hours

IR 7 U d1eft 7 ARt 7 @fSal § 7 GfSiel) o 9% &3l & a 3 919 & 91 3 Aol § 3
FBRaT o SITdT €2 %hours Tl 3 hours T %hours gl 7 hours

® Click to watch Free Video Solution of this question on Doubtnut
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Four gardeners with four grass mowers mow 400 sq. m of ground in 4 hours. How long
would it take for eight gardeners with eight grass mowers to mow 800 sq. m of ground?
4 hours b. 6 hours c. 8 hours d. 12 hours

IR I P I1Y IR I 4 &8 & ST & 400 a7f Hied 37d &1 8 UTH Hied & Jre 800 a7t Hiex

ST W 3716 SIHEAT & fAv fdbaaT I0a @mm? 4 hours @1 6 hours Il 8 hours 9|
12 hours

® Click to watch Free Video Solution of this question on Doubtnut
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If 5 workers can collect 60 kg wheat in 3 days, how many kilograms of wheat will 8
workers collect in 5 days? a. 80 kg b. 120 kg c. 100 kg d. 160 kg

Ife 5 BHaRT 3 AT # 60 fharm 1 sohgl & Febd ©, a1 5 1Al # fba fasaitumy 71§ 8 e
TR g2 U1 80 fbell &ft1 120 kg d11 100 kg @1 160 kg
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50 people consume 350 kg of rice in 30 days. In how many days will 35 people consume
50 kg of rice? a. 2 days b. 3 days c. b days d. 7 days e. none of these

30 &A1 § 50 &N 350 fbedT Tmaret &7 3T &d &1 35 @I dTad &l 50 fbell Tmaet &l 3T
B2 Q1 2 feA &l 3 days 31 5 days 91 7 days $1 370 q IS T8l
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If 5 men or 9 women can do a piece of work in 19 days, then in how many days will 3
men and 6 women do the same work? 12 b. 15 ¢. 18 d. 21

IfE 5 &9 A1 9 AlRATT 1 9 Al ¥ BW &1 T gper X Ahd! 8, @ fba &7 3 gew 3R 6
HfEATS b &t b dM? 12 @1 15 31 18 711 21

® Click to watch Free Video Solution of this question on Doubtnut
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30 labourers working 7 hours a day can finish a piece of work in 18 days. If the labourers
work 6 hours a day, then the number of labourers to finish the same piece of work in30
days, will be: 15 b. 21 ¢. 22d. 25

G # 7 € 19 B a1el 30 AIgY 18 AT H BTH BT Yo geheT WH P Uebd 81 Ife Aolgy & #
6 € BTH &d ©, a1 Holg! bl FAT 30 AT # PBTH &b A geobs Bl WeH e b v gl 15 &
2141 2291 25
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If 80 lams can be lighted 5 hours per day for 10 days for Rs. 21.2 then the number of
lams which can be lighted 4 hours daily for 30 days, for Rs. 76.50 is 100 b. 120 c. 150 d.
160

IfE 80 @@ U wfdfer 5 &< ufd &7 10 AT & fav weptferd fasar S Tepdr 21 21.2 o o &1
TwT for 30 feAT & fAT AT 4 € goebT fpam ST Ipat &, 1 76.50 © 100 w1 120 It 150
g1 160

® Click to watch Free Video Solution of this question on Doubtnut
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2 persons working 2 hours a day assemble 2 machines in 2 days. The number of
machines assembled by 6 persons working 6 hours a day n 6 daysis 6 b. 18 c. 27 d. 54

& H 2 €92 B0 &7 a1t 2 Aferd 2 AT § 2 HfAT BT gl Bed 21 1T H 6 6 PBTH B dTel 6
FfId] GRT UBHEd gl & @ v 6 i 2 6 W1 18 IY 27 71 54
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The work done by a man is double the work done by a woman in the same time. If 10
men can do a piece of work in 8 days then in how many days that work can be done by 3

3
men and 4 women? 8 b. 4 c. 7H d. 66

T 3TTCHT GRT 3T T BT U & FHT | Ueb Afeel GRT fbT T T BT QAT & &l 81 It 8
59 8 & § TH T Ueb ebsT X Hebd & dl 3 Y81 3iR 4 A3l gRT fobed & 1w febar S

Tpdr 2? 8 @1 4 Il 71—31 | 66

® Click to watch Free Video Solution of this question on Doubtnut
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Certain number of artisans can complete a shoe fabrication consignment in 16 days. 8
additional artisans had to be deployed for the same consignment and together they
completed it in 4 days less than the earlier estimate. The number of artisans initially
employed was 18 b. 20 c. 24 d. none of these

PHRITRY DT $B H@AT 16 &A1 H S[AT I &b HTHH BT R B Febdl 81 8 fdRerd BRITRT T 34t
et b Tl 1A febaT STHT &7 3R Frer # 31 58 Ul o 31gAH F 4 o7 &0 § g7 o &l o
H IS BRITRT T e &t 18 @1 20 &Yl 24 91 77 § BI Tl

® Click to watch Free Video Solution of this question on Doubtnut
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A rope makes 70 rounds of the circumference of a cylinder whose radius of the base is

14 cm. how many times can it go round a cylinder with radius 20 cm? 40 b. 49 c. 100 d.
none of these

TP T U feisx Pl gRfd & 70 138 41aT © fSIapT 3R fFsar 14 99t 81 f5sar 20 It &
1 faeie? & IRY 3R fhdTt IR ST Tbd1 22 40 @1 49 I 100 o1 378 J B T8

® Click to watch Free Video Solution of this question on Doubtnut
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A contract is to be completed in 46 days and 117 men were set to work, each working 8

hours a day. After 33 days, = of the work is completed. How many additional men may

be employed so that the work may be completed in time, each man now working 9 hours
aday? 80 b. 82 c. 81d. 83

T 3 46 AT W gy fo5am ST & 3R 117 439 &M W A By M €, udes & 8 € &M
e 21 33 Rl b A, é A ) R AR e @ B R o S
dTfch BTH THI TR R &1 Fob, YA Aferd feT 7 9 € b1 o g1 82 80 @1 82 Hil 81 ©1 83
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The normal dosage of a particular medicine is t tablets per day for each patient. A
hospitals current supply of these tablets will last p patients for d days. If the

recommended dosage increases by 20% and the number of patients decreases by one-

_ _ ) d 4d A4pt
third then for how many days will the hospitals supply last? T b. 5 C. & d. cannot

be determined

28 - 4380894
Tep fIY T BT AT GRTe T AT & fove fdy f <& miferar 8rm 81 ves srearet g7 miferat
T gdA YL ITERY It p & g A0 d a1 afe [GwIRer & R 20% 9 1t € 3R
. . . 5d 4d
AT BT FAT U fdgTs | FH 81 SATd & al AT fopa feAl adb 3MYf aam? < 3=
4dpt .
T % " Fuifa 78t fdar o gt €
® Click to watch Free Video Solution of this question on Doubtnut
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If 5 engines consume 6 metric tonnes of coal when each is running 9 hours a day, how
many metric tonnes of coal will be needed for 8 engines, each running 10 hours a day, it
being given that 3 engines , of the former type consume as much as 4 engines of the
1 8 12
?23= — =
latter type? 3 3 b.8c. 8 9 d.6 55
29 - 4380897
Ife 5 g5 &A1 7 9 €2 Ierd € 6 HIfdeh T Bl BT 3T &d 8, 8 §5H1 b feiy fobar Hifep
T PIIA B AGIBAT 81T, U 1T 10 He I I&T &, g a1 Sirar & 16 gd YR & 3T &
. . .1 8 12
3§91 §1& & YPBR P 4 g5 &b B H? 3§ | 8t 85 2l 6%
® Click to watch Free Video Solution of this question on Doubtnut
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If a certain number of workmen can do a piece of work in 25 hours, in how many hours
will another set of an equal number of men, do a piece of work, twice as great, supposing
that 2 men of the first set can do as much work in an hour, as 3 men of the second set do
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inan hour? 60b. 75¢.90d. 105

IfE Pl Y Ve fAfesia Fwam 25 6l § BT BT Ve gabel &) Febd! @, dl foba Bl H goul
T Yeb HAT HWAT T U B, BTH BT Yeb gbsl, &l IR HeM, A o fob Tget 4T & 2 GoY o
Hebd & Ueb B¢ | 39T &1 BT, S GER U< & 3 J3Y Ueh b H aed 82 60 @I 75 &1 90 @I
105

® Click to watch Free Video Solution of this question on Doubtnut
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In a barrack of soldiers there was stock of food for 190 days for 4000 soldiers. After 30
days 800 soldiers left the barrack. For how many days shall the left over food last for the
remaining soldiers? 175 days b. 200 days c. 225 days d. 250 days

AfFpl & U &b # 4000 AT P i 190 f&AT &b feiv WIS @1 WeR 2m1 30 AT & are 800
BT 7 RF BIeT AW AfAd! & g HieH R fsa & 99 w2 175 days @1 200 days
It 225 days =1 250 days

® Click to watch Free Video Solution of this question on Doubtnut
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A fort has provisions for 50 days. If after 10 days they are strengthened by 500 men and
the food lasts for 35 days longer, the number of men originally in the fort were a. 2500 b.
3500 c. 3000 d. 4000
32 - 4380906

Te fbat § 50 feAT & wmawm €1 afg 10 A1 & 91 I 500 YHT GRT ASTed 81 @ 31R IS 35
T dep TgaT B, 1 fobel W HT U A GBS bl H&AT Teb &fT1 2500 &t 3500 H1 3000 =1 4000

® Click to watch Free Video Solution of this question on Doubtnut

33 - 4380908

IBPS CLERK EXAM SPECIAL - CHAIN RULE



https://doubtnut.app.link/1FIUEWA5eS
https://doubtnut.app.link/lMmO2YA5eS
https://doubtnut.app.link/Z7hpmoGpOR
https://doubtnut.app.link/Z7hpmoGpOR
https://doubtnut.app.link/t2Duc1A5eS
https://doubtnut.app.link/gsFT02A5eS

A team of workers was employed by a contractor who undertook to finish 360 pieces of
an article in a certain number of days. Making four more pieces per day than was
planned, they could complete the job a day ahead of schedule. How many days did they
take to complete the job? 8 days b. 12 days c. 9 days d. 10 days

YT BT Vb S BT Teb SehaR gRT AT fobarm mam e, fS ves fAfesrd dwam o v o &
360 gabs I fobu &1 fAafSid bt gerar W wfd & IR 3R gaps oM, O sy ¥ U fd gl
B g R Febd A1 BN PTG B &b fedg 380 foba & faar? 8 days @1 12 days &t
9 days 1 10 days

® Click to watch Free Video Solution of this question on Doubtnut
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1
12 men and 18 boys, working 75 , hours a day, can do a piece of work in 60 day. If a

man works equal to 2 boys, then how many boys will be required to help 21 men to do
twice the work in 50 day, working 9 hours a day? 30 b. 42 c. 48 d. 90

Eﬁmaﬂ#mﬁmwaﬂﬂsa@ﬁé , T&a ¥ =2, 60 &A1 # P &7 gob gapeT o Ahd 81 IS

PIS 3T 2 TSP b IRTER BIH BT &, a1 foT H 9 & BTH B3 aTel 21 &A1 o B & & fofw
21 JSHI Bl Heg A P Ay fdsa el Bl 3maedasar anit? 30 @1 42 31 48 71 90

® Click to watch Free Video Solution of this question on Doubtnut
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2 men and 7 boys can do a piece of work in 14 days; 3 men and 8 boys can do the same
in 11 days. Then, 8 men and 6 boys can do three times the amount of this work in:

2 goY 3R 7 P 14 AT # T BT U gahsl I Fahd &; 3 THY 3R 8 @sd Uh & I &7 o
Fabd 21 T, 8 oV 3R 6 @ g0 PMH DI AET H i IR & Febd & 18 days @1 24 days
Tt 21 days @1 23 days

® Click to watch Free Video Solution of this question on Doubtnut
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Large, medium and small ships are used to bring water. 4 large ships carry as much
water as 7 small ships, 3 medium ships carry the same amount of water as 2 large ships
and 1 small ship. 15 large, 7 medium and 14 small ships, each made 36 journey and
brought certain quantity of water. In how many journey would 12 large, 14 medium and
21 small ships bring the same quantity? 25 b. 29 c. 32 d. 49

36 - 4380913
U A b AT a9, gy 31k B SISl &l 39T fhaT SITdT &1 4 93 STgiell § 7 B SIgell &
®Y H SI1ET I 21T 2, 3 A Sieell B 2 98 STgrell 3R 1 BIe STglel &6 9 g 81T 21 15
gs, 7 HH 3R 14 BIE STES1, YA 4 36 YT DI 3R $& AET H UH! @11 12 §, 14 7eH
3R 21 BIC STESI ®I fded-t AT U & I H @TQit? 25 @1 29 1 32 =1 49
® Click to watch Free Video Solution of this question on Doubtnut
IBPS CLERK EXAM SPECIAL - CHAIN RULE
The cost of 4 dozen papers is Rs. 24. The cost of 1 score of papers (in rupees) is.. 40 b.
20c.10d. 42

37 - 4380915
4 TSI TFT Bl AN BU 81 24. BT & 1 376 (FUA H) B arTd & .. 40 @1 20 I 10 =11 42
® Click to watch Free Video Solution of this question on Doubtnut

38 - 4380917 IBPS CLERK EXAM SPECIAL - CHAIN RULE

The cost of 5 kgs, of apples is Rs. 450. The cost of 12 dozen mangoes is Rs. 4,320 and
the cost of 4 kgs of oranges is Rs. 240. What is the total cost of 8 kg of apples, 8 dozens
of mangoes and 8 kg of oranges? Rs.4,020 b. Rs. 4,050 c. Rs.4, 080 d. other than

those given as options

A9 & 5 fhAum™ B dNTd T 450. 12 S 3MH B AT B9 &1 4,320 37K 4 fhar Jav &r
ANTd 1 240. 8 fbelumd A, 8 TSl 3119 37K 8 fobedl HaR Pl el NTd T 82 Rs.4, 020 T
T | 4,050 It Rs.4, 080 71 fdwed & B9 H ST 7Y & 37atrar
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IBPS CLERK EXAM SPECIAL - CHAIN RULE

If 30 men working 7 hours a day can make 12 tables in 18 days, how many days will 45
women working 9 hours a day take to make 32 chairs? Given, 4 men can make 3 tables
in the same time as 3 women can make 4 chairs. a. 12 days b. 14 days C. 28 days d. 21
days

gfE A # 7 °¢ BTH B ared 30 I3 18 AT § 12 el 97 ebd &, dl feT H 9 € B1H A
aTeT 45 AfGATY 32 ST g # fShat & ot 82 & mam 2, 4 939 U € 993 § 3 o9d &
e & Rilfs 3 AfeATy 4 BT a1 Hebelt 81 71 12 R aftt 14 g &t 28 e €h 21 &
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IBPS CLERK EXAM SPECIAL - CHAIN RULE

12 men can complete a piece of work in 4 days, while 15 women can complete the same
work in 4 days. 6 men startd€™ working on the job and after working for 2 days, all of
them stopped working. How many women should be put on the job to Complete the
remaining work, if it is to be completed in 3 days?

12 39 4 &A1 § BTH BT Vb Tbsl T &N Hebd &, STdids 15 AfZATT 4 a1 § Teb & BIH 1 o
bl &1 6 GB Il TR BTH AT YW B T8 & 31K 2 AT &b feiy e e &b 91, 37 Tt 3 3w
AT &8 P feAT1 AY BRI BT QT A P Ay Alet R bt Afgee @t ST =1fey, 3R 89 3
Tt o g1 b ST 82

® Click to watch Free Video Solution of this question on Doubtnut

doubl
1 1 S

«f Download Doubtnut to Ask Any Math Question By just a click
«f Get A Video Solution For Free in Seconds

«f Doubtnut Has More Than 1 Lakh Video Solutions



https://doubtnut.app.link/6ah3SdB5eS
https://doubtnut.app.link/aCzCyMq7eS
https://doubtnut.app.link/Z7hpmoGpOR
https://doubtnut.app.link/Z7hpmoGpOR
https://doubtnut.app.link/cse1mOq7eS
https://doubtnut.app.link/Z7hpmoGpOR
https://doubtnut.app.link/Z7hpmoGpOR

« Free Video Solutions of NCERT, RD Sharma, RS Aggarwal, Cengage
(G.Tewani), Resonance DPP, Allen, Bansal, FIITJEE, Akash, Narayana,
VidyaMandir

# Download Doubtnut Today

Get Answer just
with a click!

& doubtnut
has more than
1 Lakh Video
Solutions

ACROS

e eSO Update the App now!

prac’ e

exat
e

GETITON

P> Google Play

s
e =



https://doubtnut.app.link/Z7hpmoGpOR

